— % B8 ¥4 X 100mR

#® O R EEBEEK
R IAT AT R R

JLE0Ek (KR) 39. 66 = E B (R - Pl - KR - KEF) 1997 10A3H 09:05 ¥
23045 (GR) 42. 45 ISE T.C(%) 2007 10H3H 17:15 BB
s
1% HlEEE(EE) 42.50 2% LEHE—A(EH) 43.25 3% WAHMLE-C((Z®) 43. 33
5=y V= 4=y
F=h = fun - R4 nF T4 = fun - K4 hr I8 = funT - K4 hF
1 5832 I EEE @) P HVE 1 1648 fAEF RK(Q2) b/ apy 1171 H(Q2) M) ovy
2 121 NH KRB Q) v 2 1647 B HC(Q2) M ok 2 177 BN RE(2) vy ansf
3 5830 fRIX FHHh(4) B vavt 3 1664 HifE (1) Y T 3172 WO wEFR2) AR Vavh
4 125 HRp e (2)  FAvE any 4 1649 fEH IS (2) 774 akbw 4 169 A FEFEQ) A k= ek
4% WHHLE—B((E®E) 43.44 b3 MHAMLE-—D (=% 43.52 63X HaE (ZH) 43.81
8-y 6V—v 1=y
I8 = Fun - K4 hf T4 = fun - K4 ks =4 = fun' - K4 b
1 166 UTRENE—RR(2)  avhp anfFey 1 193 ZElF et (1) 2% <y 1 1601 KVE —FE(2) =y 2%
2 182 HI A Q) 2 vark 2 198 ERJNEI () »th™y <hte 2 1597 EM ZHd(2)  THh ke
3167 BB EE—(2) $h17 avx 3196 A AR— (1)  AhE Faqf 3 1613 BAJILEE @) by vk
4 173 & i (2) b= vk 4 185 Ak (1) vanTYy ehw 4 1615 FH)I HWFEEQ) IV 43
T8 WATHNSE - A CE) 43.87 KEHAC (=)
U=y RIS DNS
I8 = Fun - K4 hf T4 = fun - K4 hr
1 1453 A FAEQ) A477F vayv 1 4156 JUSh A Nyt VT avk
2 1448 BH  EHQ) IV M 2 4809 it (5PN Uyt oank
3 1431 JNEERE—RR(2) Wby VT apfFey 3 4149 EZUREE v yana
4 1432 K (2) ¥ Vay 4 4145 I 4B vy AVANNES

JL{5l DNS:XR15



